3& In a triangle ABC, the median to the side BC is of length
1

JI1<63 (1985 - 5 Marks)

and it divides the angle 4 into angles 30° and 45°. Find the
length of the side BC.

Solution: -

D ; o¢.iD be the median in AABC.
Let 8 =0 then »C=105"-0
In A48D, using sine law, we get

B 5 C

.BD _ (TID — BD = A'_D
sin30°  sinB 2sin 0
In AA4CD, using sine law, we get

_DC o AD e T AD
sin45® sin(105°—@) ﬁsin[lﬂﬁ“—ﬂ}

As BD = D

Ay A

= 2sin0  J2sin(105°—0)

— sin(90°+ 15°—@)= v/2sin®
— cos 15° cos © + sin 15° sin ® = ~/25in®
] © i

= cot ﬂ=""r5m:1‘;:5 =ifiﬁ=jﬁ_d
= cosec B =1+cot?0 =+/1+27+16—24-3
= cosec B =211-63
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BC?EBD=2 units



